Sfage 5 Basic Facts Practice
Test B

/\/ame:
Addition to 20 Subtraction to 20 Grou’nings within 100
§ + 6 = 10 — 9 = 50 + = 100
/ + 2 = I3 - L = 25 + = 100
3+ 15 = 12 — 6 = 80 + = 100
I+ I = 5 — L = L5 + - 100
3+ 11 = I =7 = 30 + = 100
[6 + = 17|12 - = 3100 - 70 =
3+ = 1L 18 - = [5] 100 - 20 =
L+ = 19117 - = 272|100 - &5 =
+ L =& - 10 = 31100 = 25 =
+ | = 17 -5 =1~41]100 - 95 =
Groupings within 1000 Mu/fi’nlicaﬁon 2.5 10 Division 2, 5, 10
LOO + = 1000 | 8§ x 2 = [L ~ 7 =
210 + = [000 | 5 x 10 = 10 ~ 2 =
7100 + = (000 | 10 x 5 = 60 = [0 =
550 + = (000 | L x 5 = 90 = 10 =
Lo0 + = (000 | 10 x 3 = 35 = 5 =
1000 - LOO = 5 x 8 = 6 = 72 =
1000 - 200 = 5x 7 = 50 = 10 =
1000 - 100 = 5 x 30 = LO = 5 =
1000 - L50 = 2 x b = 60 ~ 6 =
1000 — 650 = 10 x 2 = L5 = 5 =

&y
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